Bid Proof

Bid Number: 10048690-15-L

Bid Title:Refuse and Recyclable Collection Services

	REPUBLIC SERVICES OF SAN DIEGO				Days ARO: N Opt To Renew Pct. (%): N		Disc Terms - Days Disc Pct. (%):	: 30 0.00	Addendum: Tax Rate Pct (%):	NN/ATT 0
Schedule	21									
Section 1	L									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	er Quantity	Unit Price	Extension	Тах	Final
1	3 Cubic Yard Container - all City facilities excluding Qualcomm Stadium.					51,200 EA	\$11.91	\$609,792.00	\$0.00	\$609,792.00
2	4 Cubic Yard Container - all City facilities excluding Qualcomm Stadium.					20 EA	\$15.88	\$317.60	\$0.00	\$317.60
3	Qualcomm Stadium Only: 3 Cubic Yard Container.					5,000 EA	\$11.91	\$59,550.00	\$0.00	\$59,550.00
						Sect	ion 1 Subtotals:	\$669,659.60	\$0.00	\$669,659.60
Section 2	2									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	er Quantity	Unit Price	Extension	Тах	Final
1	3 Cubic Yard Container - all City facilities excluding Qualcomm Stadium.					12 EA	\$11.91	\$142.92	\$0.00	\$142.92
2	4 Cubic Yard Container - all City facilities excluding Qualcomm Stadium.					12 EA	\$15.88	\$190.56	\$0.00	\$190.56
3	Qualcomm Stadium Only: 3 Cubic Yard Container.					500 EA	\$11.91	\$5,955.00	\$0.00	\$5,955.00
						Sect	ion 2 Subtotals:	\$6,288.48	\$0.00	\$6,288.48
Section 3	5									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	er Quantity	Unit Price	Extension	Тах	Final
1	3 Cubic Yard Container - all City facilities excluding Qualcomm Stadium.					16,000 EA	\$5.94	\$95,040.00	\$0.00	\$95,040.00
2	4 Cubic Yard Container - all City facilities excluding Qualcomm Stadium.					620 EA	\$7.92	\$4,910.40	\$0.00	\$4,910.40

	REPUBLIC SERVICES OF SAN DIEGO Vendor ID: TEMP-REPUBLI				Days ARO: NN Opt To Renew Pct. (%): N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: 1 Tax Rate Pct (%):	NN/ATT)
Schedu	le 1									
Section	3									
						Sectio	n 3 Subtotals:	\$99,950.40	\$0.00	\$99,950.40
Section	4									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	3 Cubic Yard Container - all City facilities excluding Qualcomm Stadium.					12 EA	\$5.94	\$71.28	\$0.00	\$71.28
2	4 Cubic Yard Container - all City facilities excluding Qualcomm Stadium.					12 EA	\$7.92	\$95.04	\$0.00	\$95.04
						Sectio	on 4 Subtotals:	\$166.32	\$0.00	\$166.32
Section	5									
Item No.		Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	3 Cubic Yard Container - all City facilities excluding Qualcomm Stadium.					260 EA	\$8.93	\$2,321.80	\$0.00	\$2,321.80
2	4 Cubic Yard Container - all City facilities excluding Qualcomm Stadium.					50 EA	\$11.91	\$595.50	\$0.00	\$595.50
						Section 5 Subtotals:		\$2,917.30	\$0.00	\$2,917.30
Section	6									
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Container exchange due to fire, or vandalism, does not include exchange for routine maintenance (washing, painting, etc.).					1 EA	\$75.00	\$75.00	\$0.00	\$75.00
2	Repair of complete lid when damage not due to normal wear and tear.					1 EA	\$40.00	\$40.00	\$0.00	\$40.00
3	Repair of small lid when damage not due to normal wear and tear.					1 EA	\$40.00	\$40.00	\$0.00	\$40.00
4	Replacement of missing lid.					1 EA	\$40.00	\$40.00	\$0.00	\$40.00
<u> </u>						Sectio	on 6 Subtotals:	\$195.00	\$0.00	\$195.00

	REPUBLIC SERVICES OF SAN DIEGO Vendor ID: TEMP-REPUBLI				Days ARO: Opt To Renew Pct. (%)	NN N/A		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: Tax Rate Pct (%):	NN/ATT 0
Schedul	e 1										
Section '	7										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	32-35 Gallon Cart - all City facilities including Qualcomm Stadium.						52 EA	\$6.00	\$312.00	\$0.00	\$312.00
2	56-64 Gallon Cart all City facilities including Qualcomm Stadium.						52 EA	\$6.00	\$312.00	\$0.00	\$312.00
3	1 Cubic Yard Container- all City facilities including Qualcomm Stadium.*						52 EA	\$8.22	\$427.44	\$0.00	\$427.44
4	2 Cubic Yard Container- all City facilities including Qualcomm Stadium.*						52 EA	\$16.44	\$854.88	\$0.00	\$854.88
							Sect	on 7 Subtotals:	\$1,906.32	\$0.00	\$1,906.32
							Sched	ule 1 Subtotals:	\$781,083.42	\$0.00	\$781,083.42
Schedul	e 2										
Section 2	1										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	Delivery and pickup of 20 cubic yard container at various City sites.						10 EA	\$108.00	\$1,080.00	\$0.00	\$1,080.00
2	Delivery and pickup of 30 cubic yard container at various City sites.						10 EA	\$108.00	\$1,080.00	\$0.00	\$1,080.00
3	Delivery and pickup of 40 cubic yard container at various City sites.						50 EA	\$108.00	\$5,400.00	\$0.00	\$5,400.00
4	Compactor: Delivery and pickup of 40 cubic yard Compactor at Qualcomm Stadium only.						20 EA	\$108.00	\$2,160.00	\$0.00	\$2,160.00
							Sect	on 1 Subtotals:	\$9,720.00	\$0.00	\$9,720.00
Section 2	2										
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	umber	Quantity	Unit Price	Extension	Тах	Final
1	Rental, delivery and pickup of 40 cubic yard Compactor at Qualcomm Stadium only.						12 MO	\$120.00	\$1,440.00	\$0.00	\$1,440.00

	REPUBLIC SERVICES OF SAN DIEGO Vendor ID: TEMP-REPUBLI				Days ARO: N Opt To Renew Pct. (%):	NN J/A	Disc Terms - Days Disc Pct. (%):	: 30 0.00	Addendum: Tax Rate Pct (%):	NN/ATT 0		
Schedul	e 2											
Section	2											
						Sec	tion 2 Subtotals:	\$1,440.00	\$0.00	\$1,440.0		
Section	3											
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Numb	per Quantity	Unit Price	Extension	Тах	Final		
1	Roll-off container exchange due to fire, vandalism, etc., does not include exchange for routine maintenance (washing, painting, etc.).					1 Exchange	\$120.00	\$120.00	\$0.00	\$120.00		
						Sec	tion 3 Subtotals:	\$120.00	\$0.00	\$120.0		
						Sche	dule 2 Subtotals:	\$11,280.00	\$0.00	\$11,280.0		
					Subtotals for		OF SAN DIEGO:	\$792,363.42	\$0.00	\$792,363.42		
								Miscellaneo	us Charges:	\$0.0		
									Freight:	\$0.0		
							Extraordir	Extraordinary Labor - 0 hours @ \$0.00/hour:				
						Grand T	otal for REPUBL	IC SERVICES OF SA	\$792,363.42			
							I	Final Price (w/ Discount):				